

Affirmative resolve of the Riemann Hypothesis

T.Nakashima

Abstract

Riemann Hypothesis has been the unsolved conjecture for 170 years. This conjecture is the last one of conjectures without proof in "Ueber die Anzahl der Primzahlen unter einer gegebenen Grosse" (B. Riemann). The statement is the real part of the non-trivial zero points of the Riemann Zeta function is $1/2$. Very famous and difficult this conjecture has not been solved by many mathematicians for many years. In this paper, I try to solve the proposition about the Mobius function equivalent to the Riemann Hypothesis. First, the non-trivial formula for Mobius function is proved in theorem 1 and theorem 2. In theorem 4, I get upper bound for the sum of the mobius functions (for meaning of R.H. See theorem 4).

1

Handles propositions equivalent to the Riemann Hypothesis. I express the Riemann Hypothesis as R.H, and the Mobius function as $\mu(n)$.

Next theorem is well-known

Theorem .

$$\sum_{n=1}^m \mu(n) = O(m^{\frac{1}{2}+\epsilon}) \Leftrightarrow R.H$$

I will prove Left hand formula.

Lemma 1.

$$\sum_{n|m} \mu(n) = 1(m = 1), \sum_{n|m} \mu(n) = 0(m \neq 1)$$

Proof. First, if $m = 1$, it is $\sum_{n|m} \mu(n) = \mu(1) = 1$. Second case. There is a little explanation for this. Let m 's prime factorization be $m = p_1^{n_1} p_2^{n_2} p_3^{n_3} \cdots p_k^{n_k}$. Then it becomes $\sum_{n|m} \mu(n) = {}_k C_0 - {}_k C_1 + {}_k C_2 - {}_k C_3 + \cdots + {}_k C_k = (1 - 1)^k = 0$. \square

Theorem 1.

$$\sum_{n \leq m} \mu(n) \left[\frac{m}{n} \right] = 1$$

Proof. $\sum_{m'=1}^m \sum_{n|m'} \mu(n) = 1$ is from Lemma 1

$$\begin{aligned} 1 &= \sum_{m'=1}^m \sum_{n|m'} \mu(n) = (\mu(1)) + (\mu(1) + \mu(2)) + (\mu(1) + \mu(3)) \\ &\quad + (\mu(1) + \mu(2) + \mu(4)) + \cdots \end{aligned}$$

See $\mu(n)$ in this expression as a character. $\mu(1)$ appears m times in the expression. $\mu(2)$ appears $\left[\frac{m}{2} \right]$ times that is a multiple of 2 less than m . In general, the number of occurrences of $\mu(n) (n < m)$ in this expression is the number $\left[\frac{m}{n} \right]$ that is a multiple of n below m . I get $\sum_{n \leq m} \mu(n) \left[\frac{m}{n} \right] = 1$. \square

example

$m = 10$ case, $10 - 5 - 3 - 2 + 1 - 1 + 1 = 1$. $m = 13$ case, $13 - 6 - 4 - 2 + 2 - 1 + 1 - 1 - 1 = 1$ etc..

Theorem 2.

$$\left| \sum_{n=1}^m \mu(n) - \sum_{n=1}^m \frac{m}{n} \mu(n) \right| = O(\log m)$$

Proof. Remark

$$\left| \sum_{n=1}^m \mu(n) - \left[\sum_{n=1}^m \frac{m}{n} \mu(n) \right] \right| = O(\log m)$$

So,

$$\sum_{n=1}^m \mu(n) - \left[\sum_{n=1}^m \frac{m}{n} \mu(n) \right] \approx \sum_{n=1}^{m+1} \mu(n) - \left[\sum_{n=1}^{m+1} \frac{m+1}{n} \mu(n) \right]$$

If

$$\sum_{n=1}^m \mu(n) - \sum_{n=1}^m \frac{m}{n} \mu(n) = O(\log m) \quad (1)$$

then

$$\sum_{n=1}^m \frac{m}{n} \mu(n) + \frac{1}{m+1} \left(\sum_{n=1}^m \frac{m+1}{n} \mu(n) - \left[\sum_{n=1}^m \frac{m+1}{n} \mu(n) \right] \right) - \sum_{n=1}^m \mu(n) = O(\log m) \quad (2)$$

. Because

$$\begin{aligned} & \sum_{n=1}^m \frac{m+1}{n} \mu(n) + \mu(m+1) - \frac{1}{m+1} \left[\sum_{n=1}^m \frac{m+1}{n} \mu(n) \right] - \left[\sum_{n=1}^m \frac{m}{n} \mu(n) \right] - k \log m - \mu(m+1) \\ & \quad \sum_{n=1}^m \frac{m+1}{n} \mu(n) + \mu(m+1) - \left[\sum_{n=1}^m \frac{m+1}{n} \mu(n) \right] - k \log m - \mu(m+1) \\ & \quad \quad \quad \sum_{n=1}^{m+1} \frac{m+1}{n} \mu(n) - \sum_{n=1}^{m+1} \mu(n) \end{aligned}$$

$k \log m$ is vanished by $\sum_{n=1}^m \mu(n) - \left[\sum_{n=1}^m \frac{m}{n} \mu(n) \right] \approx \sum_{n=1}^{m+1} \mu(n) - \left[\sum_{n=1}^{m+1} \frac{m+1}{n} \mu(n) \right]$

(I think the case $|\sum_{n \leq m} \frac{m}{n} \mu(n) - [\sum_{n \leq m} \frac{m}{n} \mu(n)]| < \frac{1}{2}$. If $|\sum_{n \leq m} \frac{m}{n} \mu(n) - [\sum_{n \leq m} \frac{m}{n} \mu(n)]| \geq \frac{1}{2}$ then $|\sum_{n \leq m} \frac{m}{n} \mu(n) - [\sum_{n \leq m} \frac{m}{n} \mu(n)] \pm 1| < \frac{1}{2}$. I select $[\sum_{n \leq m} \frac{m}{n} \mu(n)]$ or $[\sum_{n \leq m} \frac{m}{n} \mu(n)] \pm 1$ implicitly. $|\sum_{n \leq m} \frac{m}{n} \mu(n) - [\sum_{n \leq m} \frac{m}{n} \mu(n)]| < \epsilon_0$, then for $M, m_0 < M < m$, $\sum_{n=1}^M \frac{M}{n} \mu(n) - [\sum_{n=1}^M \frac{M}{n} \mu(n)] < \frac{1}{2}$.)

From (1) to (2) Left side increases $|\frac{1}{m+1} (\sum_{n=1}^m \frac{m+1}{n} \mu(n) - [\sum_{n=1}^m \frac{m+1}{n} \mu(n)])| < \frac{1}{(m+1)^{1+\epsilon'}}$. Take integral of $\frac{1}{x^{1+\epsilon'}}$ 1 to m .

$$\int_{x=1}^m \frac{1}{x^{1+\epsilon'}} = -\frac{1}{\epsilon'} m^{-\epsilon'} + \frac{1}{\epsilon'}, \left| \frac{1}{\epsilon'} - \frac{1}{\epsilon'} m^{-\epsilon'} \right| < F(m)$$

$|\frac{1}{m+1} (\sum_{n=1}^m \frac{m+1}{n} \mu(n) - [\sum_{n=1}^m \frac{m+1}{n} \mu(n)])| < \frac{1}{2(m+1)}$ or $|\frac{1}{m+1} (\sum_{n=1}^m \frac{m+1}{n} \mu(n) - [\sum_{n=1}^m \frac{m+1}{n} \mu(n)] \pm 1)| < \frac{1}{2(m+1)}$ is got.

$$\frac{1}{2m} = \frac{1}{m^{1+\epsilon'}} \Rightarrow$$

$$m = 1024 \Rightarrow \epsilon' = \frac{1}{10} \Rightarrow \frac{1}{\epsilon'} = 10, F(m) \leq 10$$

$$m = 4096 \Rightarrow \epsilon' = \frac{1}{12} \Rightarrow \frac{1}{\epsilon'} = 12, F(m) \leq 12$$

Generally,

$$F(m) \leq \log_2 m$$

I get the formula (2). □

example:m=1000 case

$$\sum_{n=1}^{1000} \mu(n) = 2$$

$$\sum_{n=1}^{1000} \frac{1000}{n} \mu(n) \doteq 4.411$$

example:m=10000 case

$$\sum_{n=1}^{10000} \mu(n) = -23$$

$$\sum_{n=1}^{10000} \frac{10000}{n} \mu(n) \doteq -20.827$$

Lemma 2.

$$\sum_{n=1}^x \mu(n) \text{ changes sign } \in [n_0^{(1-\epsilon'')}, n_0] (n_0 < m, m > \exists m_{\epsilon''})$$

Proof. $\sum_{n=1}^x \mu(n)$ changes sign in the interval $[n_0^{(1-\epsilon'')}, n_0], m > \exists m_{\epsilon''}$ ([10]). \square

Theorem 3.

$$\left| \sum_{n \leq N} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) \right| < KN^{\frac{1}{2}+\epsilon} \left(\frac{m}{2} < \frac{2}{3}m < N < m \right)$$

Proof. Start with $\sum_{n \leq N} \mu(n) (N > \frac{2}{3}m)$. Compare $\sum_{n \leq N} \mu(n) + \sum_{n > N}^{m'} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n)$ and $\sum_{n=1}^{m'} \mu(n)$. ($m' < m$.) It is assumed that m' is first increased from the original value. The former terms add up little by little. Therefore, a positive increase means that there were many positive terms. If negative terms and positive terms appear same time from first terms, then increase never occur. If only positive terms exists, this case is further easy. Therefore $\sum_{n \leq N} \mu(n) + \sum_{n > N}^{m'} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) < \sum_{n=1}^{m'} \mu(n)$. $\left| \sum_{n > N}^m \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) \right| < K(m-1)^{\frac{1}{2}+\epsilon} + 1 + KN^{\frac{1}{2}+\epsilon}$. By theorem 2, $\left| \sum_{n=1}^m \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) \right| < K(m-1)^{\frac{1}{2}+\epsilon} + 1 + k \log m$. $\sum_{n \leq m} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) = A$, $\sum_{n \leq N} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) = B$, I take N as, $A > 0, B < 0$. or $A < 0, B > 0$, (By lemma 2, $\sum_{n=1}^x \mu(n)$ takes positive and negative. Start with small number, $\sum_{n=1}^x \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n)$ takes positive and negative. $x > \frac{2}{3}m$ case also that takes positive and negative.) $A > 0 \Rightarrow A - B < \sum_{n \leq m} \mu(n) + KN^{\frac{1}{2}+\epsilon}$. $A < 0 \Rightarrow -A + B < -\sum_{n \leq m} \mu(n) + KN^{\frac{1}{2}+\epsilon}$. I get $|B| < KN^{\frac{1}{2}+\epsilon}$. So, $\left| \sum_{n \leq N} \left(\frac{m}{n} - \left[\frac{m}{n} \right] \right) \mu(n) \right| < k \log m + K''N^{\frac{1}{2}+\epsilon} < KN^{\frac{1}{2}+\epsilon}$. \square

Theorem 4.

$$\left| \sum_{n=1}^m \mu(n) \right| < Km^{\frac{1}{2}+\epsilon}$$

R.H. is got.

Proof. I take some constant $n = N$ that satisfies $|\sum_{n=1}^N (\frac{m}{n} - [\frac{m}{n}])\mu(n)| < KN^{\frac{1}{2}+\epsilon}$ ($N \geq \frac{2}{3}m$), by theorem 3. I think

$$\left| \sum_{n \geq N}^m (\frac{m}{n} - [\frac{m}{n}])\mu(n) \right| (m'' < m)$$

and this formula takes maximum absolute value at m'' . I get

$$\frac{1}{2} \left| \sum_{n \geq N}^m \mu(n) \right| > \left| \sum_{n \geq N}^m (\frac{m}{n} - [\frac{m}{n}])\mu(n) \right|$$

$|\frac{m}{n} - [\frac{m}{n}]|$ is less than $\frac{1}{2}$ and gradually decreases as m increases. $|\sum_{n \geq N}^m (\frac{m}{n} - [\frac{m}{n}])\mu(n)|$ is less than $\frac{1}{2} |\sum_{n \geq N}^m \mu(n)|$. Like in theorem 3, $\sum_{n \leq N} (\frac{m}{n} - [\frac{m}{n}])\mu(n)$ and $\sum_{n < m} (\frac{m}{n} - [\frac{m}{n}])\mu(n)$ are opposite sign. I express $\sum_{n \leq N} (\frac{m}{n} - [\frac{m}{n}])\mu(n) = B$, $\sum_{n \leq m} (\frac{m}{n} - [\frac{m}{n}])\mu(n) = A$, $\sum_{n \leq N} \mu(n) = B'$. $|\sum_{n \leq m} (\frac{m}{n} - [\frac{m}{n}])\mu(n)| < |\frac{A-B'}{2} + B|$. $\frac{A-B'}{2}$ and B takes opposite sign. If $\frac{A-B'}{2}$ takes large absolute value, then this is less than $\frac{K(m-1)^{\frac{1}{2}+\epsilon} + k \log m + KN^{\frac{1}{2}+\epsilon}}{2}$. If $|\frac{A-B'}{2}|$ is very small, then this is less than $|B| < KN^{\frac{1}{2}+\epsilon}$. I used theorem 3. By theorem 2

$$\left| \sum_{n \leq m} \mu(n) \right| < Km^{\frac{1}{2}+\epsilon}$$

□

Special thanks: I was very grateful to my friend H. Tokitu for translating in English. I would like to express my gratitude to him.

References

- [1] de Branges, Louis (1992), "The convergence of Euler products", Journal of Functional Analysis 107 (1): 122-210
- [2] Connes, Alain, "Trace formula in noncommutative geometry and the zeros of the Riemann zeta function", Selecta Mathematica. New Series 5 (1)(1999)29-106

- [3] Connes, Alain, "Noncommutative geometry and the Riemann zeta function", Mathematics: frontiers and perspectives, Providence, R.I.: American Mathematical Society, (2000)35–54
- [4] Conrey, J. B. (1989), "More than two fifths of the zeros of the Riemann zeta function are on the critical line", J. Reine angew. Math. 399: 1–16, MR1004130
- [5] Conrey, J. Brian, "The Riemann Hypothesis" Notices of the American Mathematical Society(2003)341-353
- [6] Conrey,J.B.; Li,Xian-Jin, "A note on some positivity conditions related to zeta and L-functions", International Mathematics Research Notices 2000 (18)(2000)929-940
- [7] Dyson, Freeman, "Birds and frogs", Notices of the American Mathematical Society 56 (2)(2009)212-223
- [8] Hardy, G. H. "Sur les Zéros de la Fonction $\zeta(s)$ de Riemann", C.R.Acad. Sci. Paris 158(1914) 1012-1014
- [9] Hardy,G.H.;Littlewood,J.E., "The zeros of Riemann's zeta-function on the critical line", Math. Z. 10 (3-4)(1921)283-317
- [10] I Kaczorowski and Pintz, Oscillatory properties of arithmetical functions. Acta Math. Hungar. 48 (1986)173-185
- [11] Littlewood, J. E. (1962), "The Riemann hypothesis", The scientist speculates: an anthology of partly baked idea, New York: Basic books
- [12] Monrtgomey,Hugh L., "The pair correlation of zeros of the zeta function", Analytic number theory, Proc. Sympos. Pure Math., XXIV, Providence, R.I.: American Mathematical Society(1973)181-193
- [13] Montgomery, Hugh L. (1983), "Zeros of approximations to the zeta function", in Erdős, Paul, Studies in pure mathematics. To the memory of Paul Turán, Basel, Boston, Berlin: Birkhäuser, pp. 497–506
- [14] Riemann, Bernhard (1859),"Ueber die Anzahl der Primzahlen unter einer gegebenen Grösse" , Monatsberichte der Berliner Akademie.
- [15] Sarnak, Peter (2008), " Problems of the Millennium: The Riemann Hypothesis " , in Borwein, Peter; Choi, Stephen; Rooney, Brendan et al. (PDF), The Riemann Hypothesis: A Resource for the Afficionado and Virtuoso Alike, CMS Books in Mathematics, New York: Springer, pp. 107–115